
PAGE 1 OF 2 0420 PH-2805A

π  H-2805A
CLEAR-VIEW CABINET

1-800-295-5510
uline.com

1

2

3

PRIMARY ASSEMBLY

PRIMARY ASSEMBLY PARTS LIST

# DESCRIPTION QTY. ULINE PART NO. MFG. PART NO.

1 Shelf – Black 4 H-1105ADD-BL 301-BLK

1 Shelf – Gray 4 H-1105ADD-GR 301-MGY

1 Shelf – Tan 4 H-1105ADD-T 301-CPY

2 Left Door – Black 1 ----------- CVD-72LD-BLK

2 Left Door – Gray 1 ----------- CVD-72LD-MGY

2 Left Door – Tan 1 H-2805T-LCVD CVD-72LD-CPY

3 Right Door – Black 1 ----------- CVD-72RD-BLK

3 Right Door – Gray 1 ----------- CVD-72RD-MGY

3 Right Door – Tan 1 ----------- CVD-72RD-CPY

Touch Up Paint – Black (Not Shown) 1 H-5361 -----------

Touch Up Paint – Gray (Not Shown) 1 H-5362 LTUP-2-MGY

Touch Up Paint – Tan (Not Shown) 1 H-5364 LTUP-1-CPY



PAGE 2 OF 2 0420 PH-2805A

π  H-2805A
CLEAR-VIEW CABINET

1-800-295-5510
uline.com

HANDLE ASSEMBLY

# DESCRIPTION QTY. ULINE PART NO. MFG. PART NO.

4 Lock Bar (Set of 2) 1 H-1105-11 944LB

5 Door Handle with Keys and Hardware 1 H-1105-12 944LH

6 Locking Cam 1 H-1105-13 944LC

7 Cotter Pin 1 H-2216-CTRPN CTRPN

8 Lock Bar Guide 2 H-1105-15 944GI

9 Hinge Pin 6 H-1106-16 944HP

10 Bolt (#8-32 x 3/8") 44 ----------- -----------

11 Nut (#8-32) 44 ----------- -----------

12 Nut Driver 1 H-1224-TOOL2 TOOL2

Replacement Hardware Pack (Not Included) 
Bolts #8-32 x 3/8" (72), Nuts #8-32 (72) 1 H-1224-19 HW-72

Extra Keys (Set of 2) (Not Shown) 1 H-1105-KEYS -----------

π  CHICAGO • ATLANTA • DALLAS • LOS ANGELES • MINNEAPOLIS • NYC/PHILA • SEATTLE • MEXICO • CANADA

4

4

6

8

8

5

10 1211

9

7


